

Main Ideas/
Questions
  Title: Population Genetics and Change
What is a species?
 A species is—A group of organisms with similar internal and external structures that can interbreed to produce fully fertile offspring


  Species ______________________________________________________________________
How do species      ______________is word used to describe the process of _______________________________
give rise to other
  and resulting in a new species
different species?    __________________________________________________________________
Over time they may stay very similar to the ancestral species or to each other, or they may  become very different over time
What causes 
   
1st ______________________       +        Then ________________________
branching to occur?      Two or more parts of a population


Natural Selection




(species) stop interbreeding-gene flow





between them stops forming 



_____________________





2 different gene pools
        2 main types of isolation--



____________________



    
Prezygotic Barrers- block fertilization from 





occuring



    
Postzygotic barriers- prevent hybrid zygotes from developing into fertile adults
Geographic 
  The ___________________________________________________________________ such as isolation 

  canyons, mountains, bodies of water, deserts, or any geographic feature they can’t cross
The Big 3!---Natural selection, genetic drift, and mutations cause

 _________________    ____________________________________

Since they no longer share genes these changes add up over time until they look and behave so   different they no longer breed
Prezygotic  
  Changes to individuals with in the population can cause them to no longer mate with other isolation

  individuals within the population



Allopatric
  Allopatric Speciation is speciation that occurs in the presence of physical/geographic barriers

Vs. Sympatric  Sympatric Speciation is speciation that occurs in the same place with _______________ speciation

___________________
Postzygotic
   1= Reduced hybrid viability –genes of parents interact to reduce hybrids development or Isolation

survival

   2= Reduced hybrid vertility- ________________________________________



Summary
Name:_________________


Period: ______ Seat:_____





My pic and explanation





Temporal Isolation





Behavioral Isolation





Habitat Isolation








